Карточки самоконтроля.

РЕШЕНИЕ:

[image: image1.wmf]2

1

`

2

`

1

p

p

p

p

r

r

r

r

+

=

+

1. ВАРИАНТ

[image: image13.png]


Дано:                           Решение:                                                                                                                        

m1 = 6кг             ДО:                                                                          p1 = m1υ1         p2 = m2υ2                                                                      
m2 = 6кг                                                                                                                                                                                                                                                                                        
υ1 = 8м/с                                    υ1                     υ2                                                                                          
υ2 =3м/с                                                                                                                                               

                                                                                                   x                                                        

υ - ?                     ПОСЛЕ: 

                                                            υ                                                 p = (m1 + m2)υ
                                                                                                    x                                                                                                     

      ЗСИ:    
[image: image14.png]



                    m1υ1 + m2υ2 =   (m1 + m2)υ
      ОХ:       m1υ1 - m2υ2 =   (m1 + m2)υ
                     
[image: image2.wmf])
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РЕШЕНИЕ:

2. ВАРИАНТ

Дано:                           Решение:                                                                                                                        

m1 = 60кг             ДО:                                                                         p1 = m1υ                                                                               
m2 = 40кг                                                                                           
υ = 3,8м/с                                              υ                                            p2 = m2υ                                                                                                                                                                                                                                                                                                                                       
υ1 =5м/с                                                                                                                                               

                                                                                                   x                                                        

υ2 - ?                     ПОСЛЕ: 

                                 υ1                             

                                                            υ2                                                p1= m1υ1

                                                                                                    x          p2 = m2υ2                                                                                                                                                                            

      ЗСИ:    
[image: image3.wmf]2
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                    m1υ1 + m2υ2 =   (m1 + m2)υ
      ОХ:      - m1υ1 + m2υ2 =   (m1 + m2)υ
                    m2υ2 = m1υ1 + (m1 + m2)υ
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РЕШЕНИЕ:

3. ВАРИАНТ

Дано:                           Решение:                                                                                                                        

m1 = 10000т             ДО:                                                                    p1 = m1υ1         p2 = 0                                                                                                                                                                                                                                                                                                                                                           
υ1 = 10м/с                                    υ1                     υ2=0                                                                                         
υ2 =0м/с  

υ=2м/с                                                                                                                                             

                                                                                                   x                                                        

m2 - ?                     ПОСЛЕ: 

                                                               

                                                                   υ                                          p = (m1 + m2)υ

                                                                                                    x                                                                                                     

      ЗСИ:    
[image: image5.wmf]2
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                    m1υ1 =   (m1 + m2)υ
      ОХ:       m1υ1 =   (m1 + m2)υ
                    m1υ1 =  m1υ + m2υ
                    m2υ = m1υ1 – m2υ
                    
[image: image6.wmf]J
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РЕШЕНИЕ:

4. ВАРИАНТ

Дано:                           Решение:                                                                                                                        

m1 = 20кг           ДО:                                                                         p1 = m1υ1                                                                              
m2 = 10т                   υ1                                                                       
υ1 = 500м/с                                           υ2=0                                        p2 = 0                                                                                                                                                                                                                                                                                                                                     
υ2 = 0м/с                                                                                                                                            

                                                                                                   x                                                        

υ - ?                     ПОСЛЕ: 

                                                              

                                                            υ                                                  p1= m1υ     
                                                                                                    x             p2 = m2υ                                                                                                                                                                            

      ЗСИ:    
[image: image7.wmf]2
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                    m1υ1  =   (m1 + m2)υ
      ОХ:       m1υ1  =   (m1 + m2)υ
                
[image: image8.wmf]2
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РЕШЕНИЕ:

5. ВАРИАНТ

Дано:                           Решение:                                                                                                                        

m1 = 1,2кг             ДО:                                                                        p1 = m1υ         p2 = m2υ                                                                      
m2 = 0,8кг                                                                                                                                                                                                                                                                                        
υ = 10м/с                                                   υ                                                                                                              
υ1 =25м/с                                                                                                                                               

                                                                                                   x                                                        

υ2 - ?                     ПОСЛЕ: 

                                        υ1                                   υ2
                                                                                                               p1 = m1υ1        p2 = m2υ2                                                                                                                                                              

                                                                                                    x             

      ЗСИ:    
[image: image9.wmf]2
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                    m1υ1 + m2υ2 =   (m1 + m2)υ
      ОХ:     m1υ1 + m2υ2 =   (m1 + m2)υ
     .             
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РЕШЕНИЕ:

6. ВАРИАНТ

Дано:                           Решение:                                                                                                                        

m1 = 20т            ДО:                                                                            p1 = m1υ                                                                               
m2 = 10кг                                                                υ=0                          
υ2 = 0м/с                                              υ1                                                                                                                                                                                                                                                                                                                                                                             
υ1 =1,5м/с                                                                                                                                               

                                                                                                   x                                                        

υ - ?                     ПОСЛЕ: 

                                                              

                                                                             υ                                p1= m1υ

                                                                                                    x          p2 = m2υ                                                                                                                                                                            

      ЗСИ:    
[image: image11.wmf]2
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                    m1υ1 = (m1 + m2)υ
      ОХ:       m1υ1 =   (m1 + m2)υ
                    m2υ2 = m1υ1 + (m1 + m2)υ
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